PSlack2
Summary of Purpose.  We are measuring item-specific repetition priming for words in a semantic classification task, looking at how the magnitude of this effect varies as a function of whether the semantic classification task was embedded within a PRP design (with a secondary task occurring immediately after the classification task).  Experiment has two phases: Training and Testing.  In Training, each item is presented 0 times, once, or twice, and if it’s presented once or twice it is either presented by itself (single-task ) or together with a tone task with a 100-ms SOA.
Subject’s Tasks:  Subject sees a word on each trial, and determines if the word refers to a living or nonliving thing, making a button press response with the right hand (N for nonliving, M for living).  Sometimes the subject hears a tone, high or low in pitch, and presses one of two buttons with the left hand (S for high, X for low).
Organization.  Two phases.  Phase I consists of 360 presentations (180 of these involve tones).  Phase II consists of 300 presentations (no tones in this phase).  There should be a break halfway through each phase, so it will feel like four blocks to the subject, although the design of the experiment is not really block related..
Variables.  We won’t use blocktypes and trialtypes in this experiment.   However, items are randomly assigned to one of four conditions (0, 1S, 1D, 2S, and 2D).
Suggestions on Programming.
We will give you two lists of 150 words each, one containing words that refer to living things, another words that refer to non-living things.  We don’t have the lists ready yet, so for now you may just want to make some dummy lists of living1…living150 and nonliving1…nonliving150. 
1.  Put both lists together to form one list of 300 words (call this Biglist).  Another list (Label[i]) should contain the right answer.  So if the ith item on the first list is nonliving, Label[i]=”living”.

2.  Shuffle Biglist, and apply the same permutation to the label list, so that label[i] still tells you which category Biglist[i] belongs to.

3.  Assign items from the shuffled biglist to conditions as follows:

Item

Condition

1-60

0

61-120
1S
121-180
2S
181-240
1D
241-300
2D
The condition term describes 
· How often the item will be presented in phase I, and 
· Whether it will be presented in single-task or dual-task trial.  
Thus 2S means that the items between 121-180 on biglist are going to be presented twice in phase I, but both times in single-task trials.  Because 60 items won’t be presented at all, and 120 items will be presented twice, this means that phase I will involve 360 presentations.
4.  Let’s make a new list called TrialList with 360 elements, one corresponding to each of the trials in Phase I.  Let’s build this list out of biglist.  
TrialList[1] – TrialList[60] consists of items 61-120 from Biglist.
TrialList[61] – TrialList[120] consists of items 121-180 from Biglist 
TrialList[121] – TrialList[180] consists of items 121-180 from Biglist.
TrialList[181] – TrialList[240] consists of items 181-240 from Biglist 
TrialList[181] – TrialList[240] consists of items 241-300  from Biglist 
TrialList[241] – TrialList[300] consists of items 241-300 from Biglist 

So now Triallist contains zero copies of the words assigned to condition 0, 1 copy of the words assigned to conditions 1S and 1D, and two copies of each of the words assigned to conditions 2S and 2D.  So all we have to do now is shuffle Triallist and we can do Phase I.   In Phase II we will randomize yet again – randomizing all 300 items from Biglist and presenting them once (without any tones).
Comment on Randomization.  The various randomization steps described above may seem redundant, but they aren’t; together they guarantee that (1) each word is equally likely to be assigned to a different condition separately for each subject, and (2) there is nothing predictable about the order in which words or conditions unfold in Phase I; and (3) the order of events in Phase II is unrelated to the order of events in Phase I.
Starting Procedure
You should ask the experimenter for initials and subject number.  (Subjects are not assigned to different subject conditions or order conditions, because the randomization deals with all that.)  Then go on to show the instructions.
Procedure Within Individual Trials.  On every trial, begin by presenting a plus sign for 500 msec, followed by 500 msec blank interval.  Word remains present until response.
Dual-Task Trials.  In Phase I, when a word is assigned to a dual-task trial, you should present the word followed by the tone.  The word should appear and remain present until the subject responds to the word.  The tone should sound 100 msec after the onset of the word.   It should be randomly chosen to be either high pitch (800 hz) or low pitch (200 hz) and it should last 200 msec.
Interresponse Interval.  After the subject has responded (once in a single-task trial, twice in a dual-task trial), wait 1 second before presenting plus sign for next trial.
Rest Periods.  Halfway through Phase I, and halfway through Phase II, put up a sign that says Rest Period – Please Rest for 45 Seconds, and then after 45 seconds put up something saying Click Mouse to Resume.   When they click, wait two seconds before putting up plus sign.
Data Files. Please make two separate data files, one for each phase.

Raw Data File, Phase I:

1. Trial #

2. Word

3. Correct Response

4. Single vs Dual

5. RT to word

6. Actual response to Word
7. Was response to word Correct vs. Wrong?
8. Pitch of Tone (800 vs 200)
9. RT to Tone (this should be measured from the time the tone appeared, rather 

than the time the word appeared.)
10. Response to Tone

11. Was Tone response Correct vs. Wrong?
12. Condition (coded as follows:


1S1, 1D1, 2D1, 2D2, 2S1, 2S2)

[Why are there 6 conditions here, not five?  Because the words in condition zero never appear in Phase I, and because we also need to code whether this is the first or the second presentation of a word in condition 2S or 2D – that’s what the final digit here indicates.]
Raw Data File, Phase II:

1. Trial #

2. Word

3. Condition in which that word was assigned [0, 1S, 1D, 2S or 2D]

4. Correct Response

5. RT to word

6. Actual response to Word

7. Was response to word Correct vs. Wrong?

INSTRUCTIONS









Welcome to our experiment.  We are looking at how fast you can classify words (while sometimes also doing another task involving responding to tones).  





On every trial, you will see a word like CHAIR or TULIP.  You should decide if the word refers to a living thing or not.  If it does (like TULIP), you respond by pressing the M key; if it does not, you should respond by pressing the N key (the response buttons are labeled).  You can keep your index and middle finger of your right hand rested on these keys during the experiment.











On some of the trials, you will also hear a tone played just after the word appears.   This tone will be either high or low in pitch [click on the underlined word to hear a sample of each tone].





When you hear a tone, you respond by pressing either the S key (for high tone) or the X key (for low tone) using the index and middle fingers of your left hand.





On the trials with both a word and a tone, please respond to the word as quickly as possible, even if that means that you delay somewhat your response to the tone.   Please don’t try to group both responses; respond to the word as soon as you can classify it.














Please try to respond as rapidly and accurately as possible.  If you have any questions, ask the experimenter now.  





We appreciate your participation and hope you find this task at least somewhat interesting.  Just concentrate on trying to do your best and you will be finished before you know it.











